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I ' Find limr-, #2' r'indff,if y-xe*.
3' Find J e*t xzdx.
4. rind Jo1 $ *t,a*ay.
5, If Var(X) : 3, Var(Y) :4. then find Var i3X + 4Y).
6. Two dice are throv;n simultaneously. What is.,the probability

doublet?
If n: -s and p : 0.5, find the pmf of binomial distribution.

If X is uniformly distributed over (0,L0), find P(X < 4).
Define data.
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PART-B(5x16=80Marks)
Answer Al.I- Questions

Il. a) ( l:3
tr f tx) =lo*,i;. 

=, ;:'.< 3 
i. continuous ror

lind ,r," ,url., "i:;3* 
b' x z 3

OR

b) ti) Fincl the absotrute maxirnum and minirnum values of the function I'K3'cot

,f(x) = 3xa -*16x3 + !8x2,-1 < x < 4.

(ii)-Find the local ma:<inum and loca1 minirnum of the function B'K3'Cot

f(r) = x4 *Lxz +3.

Kl - Remember; K2 * Linderstand; K3 - App$,; K4 * Analyze; K5 - Evaluate; K6 - Create
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12. a)

b)

13 a)

,, ,;in;
(i) Er,aluate {j 4:4:=ax."u Vsrn.r+Vcos.r
(ii) Find the area enclosed by the parabola !2 = 4ax and x2 - 4ay.

OR
Find the volume of the sphere using triple inregration.

In a boit factory machines A, B, and C produce 2|ya,35a/o, 4Ao/o of
the total output respectively. Of their outpr_rts 5olo, 4yo, Zyo arc
defective bolts. trf'a bolt is chosen at random from the combined
output, whar is the probabilitl,' that it is defective? If a bolt chosen at
random is defective, what is rhe probabilit.v that was produce<i by A,
ll or C?

OR
(i) A continuous random varia'oie X lias pdf f (x) = kx2 e-*,x I 0.
Finci k, rnean and variance.
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8,K3,CCI4
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b)

14. a) Out of 800 families with 4 chiidren each, how,many families r.vould
be erpectedto have (i.y 2 boys andZ girls (2) atleast one boy (3) at
most 2 girls (4) children of both sexes?

OR
(i) Trn,o indepenCent samples of I anci 7 iterns had the following

values-

Do the tu'o estimates of the population variances differ significantly
at 5?'o level of significantl)

(ii) The fbllow'ing da\\'mg data are rom an investrgatron
Sample Size Mean Standard Deviation
I 16 23.4 2.5

2 12 24.9 2.8

Is the difi'erence between the means sienificant?

Kl * Remember; Ii2 - Understand; K3 * Apply; K4 - Analyze; KS - Evaluate; Kd * Create
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b)

(ii) A random variable has the foilowin

Find the value af k, P(X < 3) and P(0 < X < 4).
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15. a) (i) Drar.v Pie diagram represent the following the B,K3,Cos

outlay during the Seventh Fir.e-Year plan

Item Agiculture
Indusnies &

Minerals
krigation
&Fower

lommunication Miscellanmus

Rs( 6,000 4,000 2,500 4,500 1,000

(ii) Plot less than Ogive and mcre that ogive curve for the follorving B,K3,cos

data

Cost of Production 4-6 6-8 8-i0 i 10-12 12.T4 14-16
No of items i3 1i1 182 t05 19 7

b) F-ind the

OR
standard deviation and coeiTicient of variation from the t6,Ki,cas
data:fo1low-i

K] - Rememher; K2 * {Jnclersttrnd; K3 - Appi-v; K4 - Analyze; K5 * h'*tuate; K6 - Create 11759
)J

Size of the itern l0 i1 t2 tal-r 14 15 16
F'requency 2 '/ 1!l1 15 10 4 i


